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Abstract

Mathematical problems are classified into two families, i.e. the solvable ones and the
others. There are some such problems in the documentary records of the Chosun
Dynasty ages. In those days, a ‘normal right triangle’ whose ratio of the three sides in
the triangle is 3:4:5 was defined and had been used tacitly.

This paper intends to introduce the problems having errors.
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Ao BEBRIE ko] B (1)

(REE BEHY REBLRE EBc HiSH HEHR 88t BX5e SBEA, &
e Mg MERA, Bitc EHERAT~ )] BEHK)

() 4F¢A—+ELTHEMZHKEARE, p. 28)
B AHOEBET g tRE#H®

« 1iH =485, 1959=30f7. 1/T=16M, 1M =4%, 15 =68 =7 12x1,00088=12,00078=
12,000 X 4=48,000$4 = 48,000 X 30=1,440,000 T = 1,440,000 X 16 =23,040,000/ = 23,040,000 X 4 =
92,160,000 = 92,160,000 X 6 =5(*)52,960,000%k = 952,960,000%k

(2) SEENBENEG-LTXEAAL =3O RAE KM A A =S AT REH SR (EKE, p. 52)
8 AT=ZEAELH(*)X

* 7 9% B70E =9870%; vl 54 3F 4% =534%; 7l 454 3F 945 =4539%; T3t A
< x&olg a9, vl & 9,870:x=534:4,539, .. 534x=9,_870X4,539; x=83,895(*)83,890

(3) SAMRK—FT —ENTAANNINAFEERIRATHALCFEEGMAAEMN L — |1
b SR R(BE, p 69)

ZH ATAREAE—-LAR—-TFHEFNE

+ Al v 1,2454 9F 8% 7% 63 =1245H 98763 =1,24565844; w4 H WHIE 47nt
=455F; 1,245.65844°] x ¥ A WX A ul# 1:45=1,2456584:x, -~ x=4.5%1,245.6584
=5,605.46281F; 0.4628% < 35=16.19(*)8R = 16.158 R

(4) 54 ERAT BRAGRZ ZREEE(BE, p. 109)
EH —+E B RS oA EBEZ2Re -t aEz-a—1TAh

s x=3% 2?=9 2r=575 =43 (9,)3- 96.702.57 V=”7273=%x(%’—')3

| §=78° 5127
-3 39 .96,702,579 _ 870,323,211 _ .

3,504 _ 2*-3-73 _ 219 _ 219
8,192 PR 29 ~ 512

0.0000427734375% 8,192=0.3504; .-

B) SHEM— T - ERA—+AEFZEFFAZLR-EMF 2B A M- LB~ (& —
TRM(EKE, p. 140, EE, p. 94 F3Ef, p. 186)
ZH $H—EE - FARCHES RE-EE-+=W

* 3L 18 F 2t x, y& 98 B4 12x—15y=0---@, 10x—13y= —5.758/ - D,



A H X

l 0 —ISL 12 [

_1=57 =13l _ —86.25 _ 5 — 110 5 15 o

A= T =8 =14.375(%), y= - 6 =11.5(%)
10 -13

(x HETE)

6) e —EHEE - TLE B tEA Tt XRZE SR CERFESTMERSA
ARFEL A FXRERREMEASZEMAEE, p. 140)

ZEH A=W, #REEAGLTA #Et—#— =W, REEE— Y
A

* B2 2 x, y& 52 7 iE A u v Bl HE, FA  x+y=5000%-0, u=
@, xu+yv=1,702,750---®, ©,0—->®; Txv+yv=[(x+y)+6xlv; v= 51,38(%'35696 @; v
5000+6x> 0, x& AAF x=1437-®; y=5000—x=3563/M =71.268%; 026x50=13Wj .-
71313(x)%, @—>®; v=125%"-®
®—©Q; u=Tv=8753; x=1,437TM1 =28.74§%; 0.74X50=37%, .. 28%37%

(N GHR-a— FARARENATREEGCKRBELZ S BXRZBRAKZS RO R 1 — 5%
W THEBRX R -E =0 A BRI E- B oA ER X RES AL (RE, b
94) :

HFH AT AAESARSS 2R, ERMSUREENE; KA iR sk 2,
RN FAMAE—DAE, BRXLEHEE=AR03 2 2 HEAFHGRMEERs —E

* 2 216% 53 8F=21,658%=216580]; 1& =¥ w] F7}, 13 9% 28 =192g); 28
Zm wf $7} 17 3% 58 =1359], 135 X2=270/&; 3% &v| v} F7} 14 2% 6% =1263,

126/ x3=378%]; # 840%]; =w"[7} 216,580 X % =49.504/; Av] 7k 216,580 X

gg—&aw 21 ﬂ°zm&m‘x%%=mumm@;5mAmmuin%=mﬁ%%3
- _ crey 160 _ 2°X5 5 . oo oy an ue
i 0833837 X 102=15090086=160; 10} =25 X =3, - 256 T4 64425 An

K = L. — s 90=2°32’5=_2___A -
69.615[H <+ 135=515.66666-1; 0.66666 % 135=89.9991 =90, 135 3.5 3 =%’ 5141
7

B LY A A - — L D — R 63 — 32 : __1_
554 643k 24;, &vl 97() 461 +126=77353, 053 x126=63; 196 2.32.7 -2

=2 777 3% 69423
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WIEEGIC o] JBRIE Rk #H(1)

@) SAPZRZAKSBF-E =T RNABRARZUP Z4 2R WP =+ /\ iR &4
#ATCEE, p. 283)
&8 WARTHAACE, ZE+ WA, R TARAE.

* THL 1329 84 =13284; ¥ & ¥ E&d &4 x, y, z8 &FH FA x+y+2=1328
@, y=%x, z=x—384--®@; @O x+y+z=x+%x+x—384=1.328; .. x=642(x); y=%
x=428, z=x—384=258

9) SHBTEETARRAZMA UKL AB —FMRTBE—-EMRHVE=ZAPRITER -
R—+ 9 B T RE&ZM(EE, p. 241)
8 B—RE$TRS, TZRAZ()

* 2ol 2Y AFo] 28 9&o|d 35Y 2L Y9 114 313 9&olxn FF9
o] 3§ 1& 98 o2 2& #7 & . FF 2L A FS o b FHA VA FF =

o

& o ° o o° a a a a,a, a.
29 3¢, 359 4 B2 g, a+2, a+2+4, a+2+4+16,b,b+2b,b+2b+

b, b+2b+4b+db; & 359 B=% 359 Eolmz 3.19=—21%“; a=9’%=1.76)<; 3.19

16

=11b; b=§i—ii=0.29(*))i'
(10) 26— TZETE - HLARKEAA AZRHEIYR A RIERS — LA R A RT R & 5%
ML=+ RE—RIL R, p. 84) '

%EH BEAE—L—EFR—TLPUR), HE - E—L=RAF%

« & 10" 2% 63 =3463; 2 9o & x, y Hola W DA x+y=346-D, 45y=

346 1
o3lx . __|0 —1!_—346_ - ’.
15.5x; 9 y=0-0Q, x= 1 11- = =77.85R =2.43281255C; 0.4328125% 32
a |
9

=13.85R; y=346—x=286.15R =8.3796875€; 0.3796875%32=12(*).15K

(11) 4AMEE T -85 B)EXET LZ6(HBEX-FRIF R EHEEHIEY, D
152; Hg, p. 97)

MEEE Tog—F-ttoftztX, x—G—A=t+esAZt—, X—EZ LT
2R, K—Gi—HAT+EaFz—x), x—G_ttoA2z=t+=, K—@=-+toIz— 1A
K== tEaA2Zz—TZEE)

%l Fo—F~+EoFHzt+R, K—HAt+LoFAZt+—, X—FZ+LHTLR, K~
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A K

T oAz =), Ro+EoHZ+ = RoTFESHAZ—FA, XK FEaR2— | =
* & ZHRH ay, as, **°, d7°]ﬂ' 3t FH(FAHE dgt s #A a1=a7+6a’,
ay=a;+5d, -, as=a+2d, ag=a;+d, ap a1+a2=2a7+11d=3 D, as+agt

:=3a43d @', - o+ d=4 -@-0, d=37@~0, =13 @, 442 OO

2 U9 oy=art6d=13 +6x - =110 4= oy +54= 33 +5x 257 =1iL;

aa=a7+4d—§$ +4x 3 =18 ay=art3d= 5 +3X 37 =13 ()
—art2d= o g =5 mmartd=ftgr =y

(12) BARRLEATNLABERAR—EERAT LM OAREA(ER®, p. 378 HE, p. 23)
ZH APEE A REFAGREZ()E(x)

* 1k=8f% lk= lOOﬁ SO6K TR 898 =5589%; "2 MW 19 53 6& TE=M
1141759 (29 40%), -~ 1.14175%" x55.89=63.8124072; 0.8124077€ X 40=32.49628(*) R (7

(13) e+ +AF—MEBRSHAAC_TAERETAS UERIA S (%, p 380
mE p. 27)
BH —HFTECHMURGIASABRASRE=R ANE——A(%)

* 247 682 1% =24.680625FF(FFEE; 100/T); 88 263 7& 8% 98 =345.789R(EH; 40
R), - miAHAE 3457893 olB 2 H] g 1:345.789=24.680625:x, - x=2345.789X24.680625
=8,534.288638125 R =213.357215953155€; 0.35721595315Mt X 40=14.288638126 R; 14K~ 2" 8
7 8lE 6% 3k 8% 126(=)(F4#R)

(14) B =R AZIRIBX A (BAE, p. 382)
B AR

* B R ER A XIS R A (88, p. 30)
KB [RE

* 12X 8=96%1

(15) WAl = (+)+ =10 75 R (A 8% — Wl = SRRIE T (3, p. 383)
HE ~H M
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PIEEICo] BIBRIE iRke] wH (1)

* AR+ SR HEESE R =SSR (A b 32)
#FEH AR
xuf 3 7FA 19 3%; 33"€ X 1.3 =42.9(x)/; 239 X 1.3/ =29.9%

(16) kLEA+—LA}F—AME= Tk (%, p. 396)

28 KEZtSRAZ}AEFH

* kL EAT— AR F-AMEZ TR (EE . 54)

BB NEZEAGZIAEH (AR - — = - — H - A), -~ LI EFo| 9.

* 7514 65 =751.4%; 751.4%3=2,254.23 =150.28%; 751.44 —150.2841 =601.124; 0.12
A x15=183, .. 601A13F8H

e Lt D.

(17) BERKWNEA tAEA—+— A EAE—F AT T(EM®, p. 397, 54,
56)

ZE PWHE -+ H(*)

* 4554 115 44 =455.76F; & £ 123, .. 455764 X 1.2=546.912} = 36.46084;
455,764 —36.46084 =419.299274; 0.29924 X 15=4.488=}, . 4 An| 419H 43} 49 84 8/

()

(18) H AR A LS - AR SE A S = ()i = 8058 e i NS E 2 858 2 (887, p. 421)
HH A=t #RTAH
* AT ANEWAE A SRS A B () = 888 e A BA T &# 2 (B3, p. 96)

%8 WE
x Qe AL 4 x, yEt 31 BA y=26x—6=23x, -~ x=30;, y=2.3x=69

(19) Bi—@®omEhtAR T erS o8 e (EE, p. 473, EE p. 139)
Z2H ATFAB N A(EEE)
HH BFAENTA(EE)
* 449 13 o8 4995 4€¥€ 123] A F x&; x=499% x 12=5988% =5,888%

(20) W F—REZ+AR REKM(ERE, p. 500, &, p. 197)

HH ZHROGER)
8 T FARCES)

...62_



LS

* T8 Z x, y, 28 W BA L=+ =212+282=441+784=1225=35% z=35=
34

(21) S4IFERE-BANGEHAATR LT =281 BRI 20 GEM B8 L FRaT8 EF
LT EF—AANY BB =F TR AN TH 28 EB EEn -X
P ELHFEETENLEARRBEEAT RFE-E P TE -G FFTH EFL A
P E—GL P2 T E-EATPRZSASERREFRRESLEMEE, p. 308)
8 B EAEAT-EAEHT—ANAT, EEERRA, Z—FHEA FA1;
FENF T 20, F—-ThEEE -85
TEEAZHFREOAAT, ZTFATHZBALAH
R R STFREETREE S EEER—T=ER, ZE—FRHRE
FEBA— AN, Z—T - amt AR,
TERFPAR=ZSTH, F—T = EE'P—E:}I*
TH XR-ThEttZRW) EEBRAARS, BNE—tLAAE),
HERPEOASLES, ZLEAT AR
TEHPRZA—FAFES, &hEtt =202
* SHEREE(BER—-BEAB L TANTHR LT Z81E T2 GT4B L0 RE7STHE
i O TR AR DREZX EB=F (2 WP ZE A2 TR SR
U2 H BB EER FAFRE L TNE TEATARTRE LEEA AR E—G |
FTFE—HAR AT EEANTARPE-—HL TR TE-EA TR SIS & L&A (T
, p. 112)
%8 EE-a AR, RETFZEHA T—RAMEAT
EERERA, ATARER—FTHEER T RE(S AR R ESERRFTH R

« Tl 10,8704 8% =10,870.084 =108,700.85}; A58t gk T4 z™ukx} wix A
A5 ATAA, FF A5 R4, F A% ANAA, Y AT s S x T 2
8 4% Zt a b, c & Y, EF & a, by, ¥ WEF T g, b, B AY AT
ai, a, as; by, by, by ¢y, ¢, 3B Y a,=ay+ ayt az, =56+74+98=228, b,=
bip+ bopt by, =82+120+160=362; cC;= Cipt Copt 3y =95+ 172+180=447; % 1,037%;
ay=x 0122 g,=09x=2344, a;=09x=21(x).064; b,=05x=134, by=0.8x05x=10.4
A by=0.8"%05x=8324; ¢,=05%=654, ¢;=0.7X05%=4554, ¢;=0.7"%05x=3.185
A5 a1, =56% ay, =74%0.9x=66.6x; a3$=98><0.92x=79.38x; a,= ais+ ast as; =56x+66.6x
+79.38x=201.98x; by, =82X0.5x=41x; by, =120X0.8X0.5x=48x; by, =160x0.8°x05x=
51.2x; b= byt byt by, =140.2x; €1, =95X05x=23.75x; Cp =172%X0.7X05x=30.1x; c3,
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WA o] BPBRIE ko] M (1)

=180X 0.7 X 05%=22.06x; ¢;= cs+ Co5t C3; =23.75x+30.1x+22.05x=759%; .- a,+ b+ Cq

=418.08x=108,700.8, .. a;=x=260F=2641; a,,=56x=14564; a,,=666x=1,731671; a,,
=79.38x=2,063.88%1; a,;=201.98x=5,251.48%1; b, =41x=1,06640; by =48x=1,248%1; by,
=12331.213; b;=1402x=3645.2%H; c|,=2375x=6175f; 3 =30.1x=T82.6%1; c3,=22.05x
=573.3H; ¢;=759x=1973.4%H

(22) 4 HRZATIREARESHMEFAGTA+HFERERS AREEFoAES 2 RERTI
R R RS 3L T RS S 4 S MERE, p. 300)
wE Wk—F E—tEFNE LSz —EE+—
BEGAEE—LERNE-+HHRZ—HETE
ZH—FHET EFEES TSR 2EEATA
BE A FAE—L S REE AR Z—E =R ()
RRATE A FEE=+EoF2=+h
BEH LT REE=+ESRZZEH LT
THATLIEFEE =+ L8 FZoE ()
B EAFAESLEREE -+ AR 2 E— A
RMEE S TAFMEE=+EAF 2 BN+
BoE ST AESLARNE -+ ESRE =
SR E 2 t—FeE s aAt+=
BB A+ —ELERENE-FEARZA+L

* SATEMMMTATATFREARST P LA TRCARREEAZF T ZRENT L
0 FE 4 =T PO AR - AR A AT E B =+ R (B, p. 110)
8 Wk—F “E5—ttreE-ttooiz—al@t+—
WEGANTEE—LARNE -+ ELHIRZ—EHATEA
Z{—TRA+EZFEE T TZ=85 1T
WHIEATAR—L = REE - +EHREZ—EATF()
A/AEETZHFEE o rz=1h
HEEGLTNE L REE - TEHRZELT
TRAELTEFEE TS FZTEE(x)
WG TAEFTHREBE -t Rz E—1K
IR
SR Rz
x 6% FEAL 4860 =77,760%; WLHWATI & ay, ay, a3, a4, G5, asT FHIL 6F
4 o|AE; T AAE xBold AW . gy=x 0,=08c 4;=08% a;=08%



W &

as=08"% ag=08x0°l1; 715 vi¥ &A} 22 4%=36%; Iy 328 FHSHWATI] 2+ 84}
BA a,,=36x % ay=36X08xF; az =36X0.8%

¥ ay, Gy, a3, Qgs, Gse, Qg BF SHE
I 77,760=36x(1+0.8+0.8

%k a4 =36X08% % a5, =36%08% % a5 =36X%0.8x ¥

+0.8°+0.8'+0.8%; 2,160=x(1+0.8+0.64+0.512+0.4096 +0.32768) = 3.68928x,
36,288 _ 154.94976x234.19203

a=x=535.480008; 048000xR=1536288%, 8. _ 15 UITOLIUD
=195 5., —36x=36X585.48000=21077283% =1,317.33012, .- T%%=

47

140.9527x23.419203 . 141 -
427x23.419203 T 427 =

29,024 _ 123.93248x234.19203 .

124(%) 5. _ _ - - . 864 _
497 d, a4y, =36%X0.8x=36X468.38407=16,361.826%F =1,053.8641 2, .. 10,000
368.97071 % 23.419203 . 369 -
427x23.419203 T 427 =
632 _ 269.864x2.3419203 . - 210

=085 = . _ H -

- — 2 _ OF — R4 % = . 9,131 _ _38.989371x234.19203
A, a3 =36X%0.8x=13,489.461 % =843(*).09131 = 100,000 497 < 23419903
=39 o
421 ¢
() By ) - a - 9,056 _ 215.8912x23.419203 . 216
a;=0.8"x=299.76589; 0.7658 X 32=24.50564, .- 10,000 = 427x23.419203 427
- _ 3 _ oF — = . 23 _ 9.8210003x2.3419203 _
A, a4, =36X%0.8x=10,784.368%=674.0232, 1,000 497 % 2.3419203 :
10(*) -
21 =
448  _ 1.91296x234.19203 .

=0 Q% = . = % . =
57,843 _ _246.98961x234.19203

—-—2—— ] = 4 = = y =
497 3, a5, =36%0.8'x=8633.255% =539.57843Z, .- 100,000 427X 23419903
S 247 5
42T
—() DBy . — g - 20,352 _ 86.903042x234.19203 .
as=0.8"x=191.85011¥; 0.85011 X 32=27.203524, .. 100, 000 427 % 93419203
5 oF — = . _066.274 _ 282.98998x234.19203
427 3, ag =36%0.8x=6,906.6039% =431.66274, .- 100000 — 497 % 23419203
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WIBEGI{Co] BERTE ko] W (1)

. 283

o &
- Lo

27
* ZaL; AR A 13 A Al 135(2000) p. 30 “FHE k#FI HH”

=N

2. & BGRS] RZ 9 MR

(23) SHRACKOBHE—=REH AR TS —T AT EME T -
— PR QB ZEAT(BRE, p. 137)
ZH ABEE—FT=Z=8A2+ \CHMEEA T+ BEENE=1TNEM—TtE = -<T
cunk A% 2y, x@ HT Fh A% F oy, ;o HE BA y=3e-O,
y1=4x1®, x+x1=1,792®, y+y1=2,318®l, @,@q@’: 3x+4x1=2,318@,

1,792 1 11,792
2,318 4 =13 23181 _ 3 058 5 =3r=14550;

@I @A x= Il 1’ =4,850; x 1
3 4
n=4x=-12,232, . &% EA

¢ 9 Mok L ook 199 Wek 874 x, v B0 83 1, yiolBE y=3 50,

nw=4x,®, x+x=1,792--0Q, y+y,=2,6318---@’, @,@*@’;%x+4x1=2,318'"@,

o :13 1,792
: l— 2,318|
]2,318 4‘ _ .1 =434; y=3x=582 y,=1,736

®, @AM x= 1 1 =1,398; x;= 55 7
Iy 7

(24) S RPN FHE—BREE—B-TAETS+)SRBE AN T ELEEH =7 HE LR
3T Ju =B RIA A EEA(EE, p. 363)

8 KAmEAFZH, PHEASTNS, NHFEME NS

* A S=82°+64°+46°=12036°122 FHL 129362.F IXNW F. UFi 4 WAL
x, y, z& 82 BA F+y*+7=12936D, x—y=y—z+®, x+y+z=192---®, @A
ILZ D ®-0; x+2=1280), ®—O; y=64--®, ®—D; ¥*+2=8840--D, ®—

y= cee
2
@; Hx)=x> —128x+3772=0; 3772=2 - 23 - 41; H(82)=0; x=82; z=128—~x=46




Wk

3. [ BGRQ widdel s Mbmed wef

(25) 4B BR AN 22— KIS 2 = B — g A ASREEEMEE, p.
322)
HE R ey, ket =d, gt

* T8 7t x, y, z8 BA F=xF+"-0, %(x+z)+%(y+z)=18-“®’, @' = 9

+4y+132=1944--®, @—D, AE H(x,y)=88x*+153y*+34,992x + 15,552y — 72xy — 3,779,136
=0; H(54,72)=0; x=54; y=T72; z=90°] E7}s|(FA ¥R 4); 244 AT A4S A4
3d, = x=3k, y=4k, z=5k- QY& 14 @—Q - k=18-®, ®—Q; x=3k=54; y=4k
=72; z=5k=90. °|3} A} AHE.

(26) SHAREARDEMBRND Z— BN EREM =50 2 Z iR 09+ 75 R R oL &
(BRJE, p. 323)
B8 A=ttty RE+HXRE, gl t+as

* 708 4 x y, zE BA L=x+y"-0, %(y+z)—%i—(x+z)=42---®, @—-;

H(y, 2)=17y"+82"+24xy — 2,016y — 15122+ 63,504 =0---®); H(36,45)=0; y=36z=45; x=27;
g @ 24 A Bd FFIolW, B x=3k y=4 z=5k®@, ®@>D .. k=9, .
x=3k=29; y=4k=36; z=5k=45

27) SATtBE R AR RS 2 MR AR-S 2 5~ BUBRLLD WS04 =1 S5 R
A HIIRIE, p. 325)
®E WP, RS, fE T

+ T8 7t x, y, z2 BA F=x+yO, %(y+z)—'$'(x+z)=33"'@, @-0;

H(x, y)=12x*+32y"—48xy+1,848x— 2,772y +53,361=0--®); H(315, 42)=0; x=315; y=42;
z=525; 2" o]l BA WAL 9 AFn ZHONWH x=3k y=4k, z=5k-@®, @®—Q;
2k=231, - k=105-®), ®—®; x=3k=31.5 y=4k=42; z=5k=525

(28) S HAKRBALREMN =52~ RAKMAG 20 FHF R —+ Va4 5 8ok & %]

(X8, p. 327)
KB A t—%, BoFAY, #=+ES
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WA FIfCo] WEBRTE ko] HE (1)

+ 708 7 x y, 28 BA P=PryReD, %(x+z)—%(y+z)=14-"®, @—0;
Hi(x, y)=176x"+15y" — 240xy — 10,080x+ 5,376y + 112,806 =0--®); H(21, 28)=0; x=21; y=28;
z=35; 2¥d @& A WA, vy AFaolW x=3k y=4k; z=5k-@, ®—Q®), 48k=
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